
50 SX PRO SENIOR LC 2002 <2002><EU, US><600124>
FRONT WHEEL

155

Pos Part Number Description Additional Text Quantity

1* 45109001144 FRONT WHEEL-SP CPL.1,6X10'' AL JUNIOR LC, SEN. LC
AUSTRALIA

1.00

2* 45109010044 FRONT WHEEL HUB CPL. 2002 1.00

5 45109001001 RIM 1,6X10'' ALUMINIUM JUNIOR LC, SEN. LC
AUSTRALIA

1.00

9 45109072000 SPOKE NIPPLE 3MM 28.00

22* 0625062027 BALL BEARING 6202 2RS1 C3 2.00

31 45010092000 WHEEL COVER CPL. 50 SXR 1.00

32 44011076305 CABLE TIE 300/4,8MM BLACK 7.00

36* 45109060000 BRAKE DISC FRONT JUN/SEN 02 1.00

40 59009062013 SPECIAL SCREW M6X13 WS=8 10.9 4.00

42* 45109071102 SPOKE 3X100X6MM-110° JUNIOR LC, SEN. LC
AUSTRALIA

28.00

44* 46010085000 AXLE 207MM M12X1 1.00

47* 0125120003 FLAT WASHER DIN0125-A13 2.00



48* 0934120103 Nut M12x1 h10 WAF19 DIN 934 2.00
* = New part


